gtandary

AN HALIPES

SPS74

A- Kilovuzioma Elemanlan |

A- Sliding Elements

ETII'I B Sirtinme Plokas: / Sliding Pod
® Malrame J Material
CHAE HREC ¢ BE-E

® Nat S/ Natg

T iy pob brdopolse

S 2] Sheo'p ckgen
Tl im Siode

B SR e
A TR, At Mo
. pir B S G-

Iy
A
b Sy, Mol 5 Jiader Coxde

SPSFL-W-L-f

o Feferons Mog /
Fieference Code

%,r’

A5z ook
.-

o
.t
] w 13
Sipariy Kodu / Order Code w L B Wi M

SP574-100-75-25 100 75 25 50 M12x40

| 5P574-100-75-30 100 75 30 60 M12x40
5P574-150-75-25 150 75 25 110 M12x40

| SP574-150-75-30 150 7o 2] 110 M12x40




